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C:\Users\Dave\AppData\Local\Temp\Templ mintime2 f[1l].zip\mintime2.f 1
] CODE TO COMPUTE MIN TIME TCO TRAVEL FROM (1,0} to {(2,2)
o] ALONG GENERAL PATH
c FOR v=¢/n WITH c=1 and n=a+b |y*2-x"2|
implicit none
real*8 a,b,c,x(0:100),y(0:100},dx,dx2,n,beta,E,dE, move
real*8 dy,ran2,xx,yy,avey(0:100),aveE,aveE2
integer ix,Nx, imonte,Nmonte,iran,accept
c=1.d40
Nx=400
write (6,*) 'enter a,b,Nmonte,move,beta,iran’
read (5,%*) a,b,Nmonte,move,beta,iran
dx=2.d0/dfloat (Nx)
dx2=dx*dx
c INITIALIZE %,y TO BE STRAIGHT LINE
do 100 ix=0,Nx .
x(ix)=0.d40+(2.40-0.40)*dfloat {ix) /dfloat (¥x}
y{ix)=1.40+(2.d40-1.d40)*dfloat {ix) /dfloat (Nx}
100 continue
C COMPUTE "ENERGY"
E=0.40
do 110 ix=1,Nx
xx=x (1x) -dx2
yy=(y{(ix}+y {ix-1))/2.d0
n=a+b*dabs (yy*yy - xXx*xx)
GE = dsqgrt{ (y(ix)-y{ix-1}}**2 + dx2 ) * n/c
E=E+dE
avey (ix)=0.40
1190 continue

avey{ 0)=1.do*dfloat (Nmonte)
avey {Nx)=2.d0*dfloat (Nmonte)

accept=0

aveE =0.d0

aveE2=0.d0

do 300 imonte=1,Nmonte
do 200 ix=1,Nx-1

xx=x(ix) -dx2

yy=(y{ix)+y{ix-1})/2.40
n=a+b*dabs {yy*yy - XX*xAX)
dE = - dsgrt( {yv{ix)-y(ix-1)}*%2 + dx2 ) * n/c

yy=(y(ix)+y{ix+1})/2.40
n=at+b*dabs {(yy*yy - xxX*xx)
dB = dE - dsqrt( (y{ix)}-y(ix+1))**2 + dx2 } * n/c

dy=move* {ran2 {(iran) -0.54d0)

yy=(y (ix)+dy+y (ix-1))/2.40
n=a+b*dabs (yy*yy - xx*xx)
dE = dE + dsqrt{ {y{(ix)+dy-y(ix-1}}**2 + dx2 } * n/c

yy={y (ix)+dy+y {ix+1))/2.d0
n=a+b*dabs (yy*yy - Xx*xx)
dE = dE + dsgrt{ (y({ix)+dy-y(ix+1}}**2 + dx2 } * n/c



C:\Users\Dave\AppData\Local\Temp\Templ mintime2 f[1].zip\mintime2.f

200
300

400

11

if (ran2(iran}.le.dexp{-beta*dE)) then
accept=accept+1l
y{ix}=y (ix) +dy
E=E+dE
endif
avey (ix)=avey (ix)+y (ix)
aveE =aveE +E
aveE2=aveE2+E*E
continue
continue
aveE =zaveE /(dfloat{Nx-1}*dfloat (Nmonte))
aveE2=aveE2/ {dfloat {(Nx-1) *dfloat {(Nmonte) )

NEED TO BIN TO GET ACCURATE ERRCR ESTIMATE...

write (6,990) dfloat(accept)/{(dfloat (Nx-1)=*dfloat (Nmonte)},
aveE,dsgrt (aveE2-aveE*aveE) /dsgrt (dfloat (Nmonte-1)}

E,aveE
format{tacc= 1',£f8.4,' <t»>= ',£8.4,' +- ',£8.4)
format{'acc= ',£8.4,' <t>= !',£8.4," t= ',f8.4)

format{i6,3f8.4)

do 400 ix=0,Nx

write {66,991) ix,x{(ix),v{ix),avey({ix)/dflocat (Nmonte)

continue

end

USE THESE COMMENTED OUT LINES IF REAL*8 DESIRED.
REAL*8 FUNCTION RAN2 (IDUM)
IMPLICIT REAL+*8(A-H,0-2)

FUNCTION RAN2 (IDUM}
gave
PARAMETER (M=714025,IA=1366,IC=150889,RM=1.4005112E-6)
DIMENSION IR(97)
DATA IFF /0/

IF(
I
I

IDUM.LT.0.CR.IFF.EQ. () THEN
FF=1
DUM=MOD (IC-IDUM, M}

DO 11 J=1,97

IDUM=MOD {IA*IDUM+IC, M)
IR{J)=IDUM

CONTINUE
IDUM:MOD(IA*IDUM+IC,M)
IY¥Y=IDUM

ENDIF

J=1

+{97*IY} /M

IF{(J.GT.97.0R.J.LT.1}PAUSE

I¥=

IR(J)

RAN2=IY*RM

IDUM=MOD (IA*IDUM+IC,6 M}
IR(J)=IDUM

RETURN

END
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